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LINEAR EQUATIONS

1.Solve: 3z 4+ 5 = 5z — 11. Represent the solution

graphically.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_rOlm9Xn0LGnm

2. Solve for x:

3 1—8
T— =

Represent the solution graphically in each case.

° Watch Video Solution

3. Solve for x:

2 1=5
3a:+ =

Represent the solution graphically in each case.

° Watch Video Solution



https://dl.doubtnut.com/l/_WpTF2lD2UxkZ
https://dl.doubtnut.com/l/_cLoZm8EdGLPJ

4, Solve : % +x =16

o Watch Video Solution

5. Sol 2—|—11_1—|—2
.Solve : 2y 4—3y

o Watch Video Solution

6. Solve : 2(x —5)+3(x—2) =8+ 7(zx —4)

and check your answer.

o Watch Video Solution



https://dl.doubtnut.com/l/_kAZULOpMv5MM
https://dl.doubtnut.com/l/_OuO5hGU6mPts
https://dl.doubtnut.com/l/_r9EPaLlwRwxQ
https://dl.doubtnut.com/l/_nXFlZteqc7p1

7 <ol 2w+1_3
. Solve: 5 — &

° Watch Video Solution

8.Solve: z — 40 % of x = 12.

o Watch Video Solution

o cole. DT =3 3r—2 2
.0lve : 2 3 —3



https://dl.doubtnut.com/l/_nXFlZteqc7p1
https://dl.doubtnut.com/l/_SgeKoD9iA6SI
https://dl.doubtnut.com/l/_lI2aYdfgRqX1

Answer: B

° Watch Video Solution

Tz + 3 3z — 5 2r — 5

7 5 3 2

10. Solve :

o Watch Video Solution

11. Four times a number diminished by 5 equals 19.

Find the number.


https://dl.doubtnut.com/l/_lI2aYdfgRqX1
https://dl.doubtnut.com/l/_9Q4n0eldVh5o
https://dl.doubtnut.com/l/_1vm2MJmX55R5

° Watch Video Solution

12. Four-fifths of a number is greater than three-

fourths of the number by 4. Find the number.

° Watch Video Solution

13. A number whose fifth part increased by 4 is
equal to its fourth part diminished by 10. Find the

number

° Watch Video Solution



https://dl.doubtnut.com/l/_1vm2MJmX55R5
https://dl.doubtnut.com/l/_AXm5qS5Lysjs
https://dl.doubtnut.com/l/_7HcOUVQ6dnXF
https://dl.doubtnut.com/l/_LXeIB8jPkfSp

14. The sum of three consecutive odd number is 51.

Find the numbers.

° Watch Video Solution

15. A man is 24 years older than his son. After 2
years, the man's age will be three times that of his

son. Find their present ages.

° Watch Video Solution

16. The length of a rectangular park exceeds its

breadth by 17 metres. If the perimeter of the park is


https://dl.doubtnut.com/l/_LXeIB8jPkfSp
https://dl.doubtnut.com/l/_qpleJgPwqUpn
https://dl.doubtnut.com/l/_7JJNWaWA5Xs1

178 metres, find the dimensions of the park.

o Watch Video Solution

17. Two complementary angles differ by 8°. Find the

angles.

o Watch Video Solution

18. A man purchased some pens at Rs. 8 each and
some pencils at Rs. 2.50 each. If the total number of
pens and pencils purchased is 27 and their total

cost is Rs. 150, how many pens did he buy?



https://dl.doubtnut.com/l/_7JJNWaWA5Xs1
https://dl.doubtnut.com/l/_6pBnhQNs3JA1
https://dl.doubtnut.com/l/_cHadhZZRGHY8

‘ o Watch Video Solution

Exercise 14 A

1. Solve the equations and check your answer in the

case:

5(z +4) = 35


https://dl.doubtnut.com/l/_cHadhZZRGHY8
https://dl.doubtnut.com/l/_HYppU66Eq8Wf

Answer: C

° Watch Video Solution

2. Solve the equations and check your answer in the

case:

2 5—03
y§_°

° Watch Video Solution

3. Solve the equations and check your answer in the

case:

S 6=09
E


https://dl.doubtnut.com/l/_HYppU66Eq8Wf
https://dl.doubtnut.com/l/_x6VujSLK1QMw
https://dl.doubtnut.com/l/_a9gceNLqjOI1

o Watch Video Solution

4. Solve the equations and check your answer in

the case:
3 : 3
r— — =11 —
3

° Watch Video Solution

5. Solve the equations and check your answer in the

case:

0.6z —1.9 = 0.2z 4 0.5

° Watch Video Solution



https://dl.doubtnut.com/l/_a9gceNLqjOI1
https://dl.doubtnut.com/l/_S1EJDSbR3PFh
https://dl.doubtnut.com/l/_cu8VNKk71WgS

6. Solve the equations and check your answer in the

case:

2(3y — 2) —4(2y — 5) = 9

° Watch Video Solution

7.Solve the equations and check your answer in the

case:

5(3 —x) +1=3(x + 4)

W= o=


https://dl.doubtnut.com/l/_cu8VNKk71WgS
https://dl.doubtnut.com/l/_ytPpp9uI9XhJ
https://dl.doubtnut.com/l/_zrhPbjcWVIlM

c _1
.CB—2
5 _1
.513—4
Answer: C

° Watch Video Solution

8. Solve the equations and check your answer in the
case:

7—2(5—3z) =4x—3)+5


https://dl.doubtnut.com/l/_zrhPbjcWVIlM
https://dl.doubtnut.com/l/_RfrOaI2GXVA1

Answer: B

° Watch Video Solution

9. Solve the equations and check your answer in the

case:

6(3z +2) — 5(6x — 1) = 3(x — 8) — 5(7z — 6) + 9z

o Watch Video Solution



https://dl.doubtnut.com/l/_RfrOaI2GXVA1
https://dl.doubtnut.com/l/_rs38wmZ7pKQu

10. Solve the equations and check your answer in

the case:

p—(2p+5) —5(1—2p) =2(3+4p) —3(p—4)

° Watch Video Solution

11. Solve the equations and check your answer in

the case:

2¢ + 3 B 3

34+ 2
A x=2

B.x=1


https://dl.doubtnut.com/l/_R6OmLLiY1m3u
https://dl.doubtnut.com/l/_Z1KVpz6QWYnV

Answer: D

° Watch Video Solution

12. Solve the equations and check your answer in

the case:
8 — 3x B 2
52 +31 3

° Watch Video Solution



https://dl.doubtnut.com/l/_Z1KVpz6QWYnV
https://dl.doubtnut.com/l/_2WghuPIgSAXG

13. Solve the equations and check your answer in

the case:

€I XI
Ty
3 T 7

° Watch Video Solution

14. Solve the equations and check your answer in

the case:

2T

° Watch Video Solution



https://dl.doubtnut.com/l/_kA99l1ZQvvyv
https://dl.doubtnut.com/l/_PIMP6uwySYIl

15. Solve the equations and check your answer in

the case:

x—24% of x = 38

° Watch Video Solution

16. Solve the equations and check your answer in

the case:

T +5

T
= —9
2 +3 0

° Watch Video Solution



https://dl.doubtnut.com/l/_OikMUBEclZzb
https://dl.doubtnut.com/l/_mMWqcbLqijzm

17. Solve the equations and check your answer in

the each case:

2¢ + 3 3:13—2_

3 4 1

o Watch Video Solution

18. Solve the equations and check your answer in

the each case:

3y — 2 by — 8 1

7 4 14

° Watch Video Solution



https://dl.doubtnut.com/l/_ECsMiAqEqN6q
https://dl.doubtnut.com/l/_S1ZAxiDXZzqQ

19. Solve the equations and check your answer in

the each case:

T — 2 w—3_a:—1
5 T4 T 2

o Watch Video Solution

20. Solve the equations and check your answer in

the case:

r —4 Tz + 4 Tz + 3

7 5 7

° Watch Video Solution



https://dl.doubtnut.com/l/_4r8iX8uXxqp0
https://dl.doubtnut.com/l/_qmWWUh58aMdO

21. Solve the equations and check your answer in

the case:

2 4 4
— — 9 = 2 (21 — _
3 (3z ) E (2z — 3) 3

o Watch Video Solution

22. Solve the equations and check your answer in

the case:

3 5 Tx

° Watch Video Solution



https://dl.doubtnut.com/l/_cy9knl0xpMx3
https://dl.doubtnut.com/l/_1HdmCrdcM4Aa

23. Solve the equations and check your answer in

the case:

w—(2w—3x_4)zu_3

7 3

° Watch Video Solution

24. Solve the equations and check your answer in

the case:

37 1 5 l—z\ 3
e\ —— ) =2ty

o Watch Video Solution



https://dl.doubtnut.com/l/_vN8cNADUZncF
https://dl.doubtnut.com/l/_a8T5lQ8xNx4n

Exercise 14 B

1. Three-sevenths of a number is 12. Find the

number.

° Watch Video Solution

2. A number increased by 9 gives 43. Find the

number.

° Watch Video Solution



https://dl.doubtnut.com/l/_yAwYW5wEL3Tw
https://dl.doubtnut.com/l/_gpVeKk0reLI8

3. A number diminished by 11 gives 57. Find the

number.

° Watch Video Solution

4. Thrice a number increased by 6 equals 39. Find

the number.

° Watch Video Solution

5. Three-fourths of a number exceeds its one-third

by 15. Find the number.



https://dl.doubtnut.com/l/_RVlCTaPMZp95
https://dl.doubtnut.com/l/_BRdKAuOwIFVo
https://dl.doubtnut.com/l/_xrkt0lWaW0AK

| @ Watch Video Solution

6. A number when divided by 4 is reduced by 21.

Find the number.

o Watch Video Solution

7. A number is as much greater than 36 as is less

than 86. Find the number.

o Watch Video Solution



https://dl.doubtnut.com/l/_xrkt0lWaW0AK
https://dl.doubtnut.com/l/_DVLRQB5lo57D
https://dl.doubtnut.com/l/_fPP7DGSA7DL3

8. A number exceeds its four-sevenths by 18. Find

the number.

° Watch Video Solution

9. A number exceeds 20% of itself by 40. Find the

number.

° Watch Video Solution

10. If 10 be added to four times a certain number,

the result is 5 less than five times the number. Find


https://dl.doubtnut.com/l/_xjCNZpgniMGV
https://dl.doubtnut.com/l/_yApQQcsUusCC
https://dl.doubtnut.com/l/_cvynhcHavd7N

the number.

o Watch Video Solution

11. One fourth of a number is increased by 7 and
the result is multiplied by 3. Thus, we obtain 36.

Find the number.

° Watch Video Solution

12. The sum of two consecutive odd numbers is 56.

Find the numbers.


https://dl.doubtnut.com/l/_cvynhcHavd7N
https://dl.doubtnut.com/l/_EpPMP9tYz7M9
https://dl.doubtnut.com/l/_VznKtKz8kQtm

A. 26, 27

B. 30, 31

C. 27,29

D. 29, 31

Answer: C

° Watch Video Solution

13. The sum of three consecutive even numbers is

48. Find the numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_VznKtKz8kQtm
https://dl.doubtnut.com/l/_XE7TO7IlfQjg

14. One of the two numbers exceeds the other by 9.

Four times the smaller added to five times the

larger gives 108. Find the numbers.

A. 26, 27

B.16,7

C. 20,7

D. 18,9

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_HqjgvcQn71G3
https://dl.doubtnut.com/l/_7C5KDZcqNuki

15. In a class of 40 pupils, the number of girls is
three-fifths of the number of boys. Find the number

of boys in the class.

° Watch Video Solution

16. The length of a rectangular park is three times
its breadth. If the perimeter of the park is 192

meters, find the dimensions of the park.

o Watch Video Solution



https://dl.doubtnut.com/l/_7C5KDZcqNuki
https://dl.doubtnut.com/l/_VMQ6xJwHM1lw

17. Two equal sides of a triangle are each 5 metres
less than twice the third side. If the perimeter of
the triangle is 55 meters, find the lengths of its

sides.

° Watch Video Solution

18. Two supplementary angles differ by 44°. Find

the angles.

° Watch Video Solution



https://dl.doubtnut.com/l/_zthBHlcMkMMQ
https://dl.doubtnut.com/l/_0QFQdx1KKVqR

19. The total cost of 3 tables and 2 chairs is Rs.
8745. If a table costs Rs. 40 more than a chair, find

the price of each.

° Watch Video Solution

20. The denominator of a fraction is 3 more than
the numerator. If 2 is added to the numerator and
5 is added to the denominator, the fraction

1
becomes 7 Find the fraction.

o Watch Video Solution



https://dl.doubtnut.com/l/_hz5UdMwjtS2y
https://dl.doubtnut.com/l/_Z52uZ1CHOTsb
https://dl.doubtnut.com/l/_z23aE4Q2bsIQ

21. A man is twice as old as his son. 20 years ago,
the age of the man was 12 times the age of the son.

Find their present ages.

° Watch Video Solution

22. A man is 28 years older than his son. After 10
years, he will be thrice as old as his son. Find their

present ages.

o Watch Video Solution



https://dl.doubtnut.com/l/_z23aE4Q2bsIQ
https://dl.doubtnut.com/l/_vTuQOqMymwtG

23. Sunita is 24 years older than her daughter
Kavita. 6 years ago, Sunita was thrice as old as

Kavita. Find their present ages.

° Watch Video Solution

24.Divide 184 into two parts such that one-third of
one part may exceed one-seventh of the other part

by 8.

° Watch Video Solution



https://dl.doubtnut.com/l/_riVfXAASKC5F
https://dl.doubtnut.com/l/_Mrm176qVoGFW

25. A sum of Rs. 500 is in the form of
denominations of Rs. 5 and Rs. 10. If the total
number of notes is 90, find the humber of notes of

each type.

° Watch Video Solution

26. There are some 50 paisa and some 25 paisa
coins in a ba. If the total number of coins is 30 and
their total value is Rs. 11, find the number of coins

of each kind.

° Watch Video Solution



https://dl.doubtnut.com/l/_D5EUbp2iZSZ5
https://dl.doubtnut.com/l/_DxUz7O9EvtJy

27. A labourer is engaged for 20 days on the
condition that the will receive Rs. 280 for each day
he works and will be fined Rs. 60 for each day he is
absent. If he receives Rs. 2540 in all, for how many

days did he remain absent?

° Watch Video Solution



https://dl.doubtnut.com/l/_QdbbUEa5XeXj

